Lesson 6 Quiz

1) Someone opened INT on each of these two hands.
Explain why this was wrong

a) s~ K43 b) s 632
vQ v AK5
+ KJ873 + KQ62
% AT764 «» KQ4
2) Choose an opening bid for these hands:
a) & AKQ2 b) & AKJS c) aJ7
v J9643 v 92 v 72
+ K52 + J1074 ¢+ AKQ
®7 * AQ5 % AJ9732
3) Partner opens INT, and Right Hand Opponent (RHO) passes
What is your response?
a) & J63 b) & AQ2 c) &~ KQJ2
v A5 v KQ4 v AQ
¢ K7532 ¢ 65 ¢ AKJ
% 1095 % Q10865 % AQJ3
4) EW are Vulnerable, NS Nonvulnerable.

What score would be entered on the traveller for these contracts?

a) 4a by East making 11 tricks

b) 3NT by South making 9 tricks

c) 2a by North making 7 tricks
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d) 85

d)

v AKQ32
¢ 9
% KQJ74

a KQJ832
v3

+ K874

& K7



